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igjfu]pd; njhlu;Gf;fika nrq;Nfhz Kf;Nfhzpnahd;wpd; ,uz;L gf;fq;fspd; ePsk; njupe;jhy; %d;whtJ 
gf;fj;jpd; ePsj;ijf; fhz KbAk;. Mdhy; xU gf;fj;jpd; ePsk;> nrq;Nfhzky;yhj Nfhzk; vd;gd jug;gLk; 
NghJ jpupNfhz fzpj tpfpjq;fspd; %yk; Vida gf;fq;fspd; ePsj;ijf; fhz KbAk;.  
jpupNfhz fzpj tpfpjq;fs; 

 

 

 

 

 

 

 

,jid cUjp nra;Jnfhs;s gpd;tUk; gapw;rpfspy; ,ilntsp epug;Gf. 

cjhuzk; 01        cjhuzk; 02 

 

 

 

 

 

 

300 , 600 Nfhzq;fspd; jpupNfhzfzpj tpfpjq;fisg; ngw;Wf;nfhs;s mikf;fg;gl;l cU fPNo jug;gl;Ls;sJ. 
mjw;Nfw;g ,ilntspfis epug;Gf. 

 

 

 

 

 

 

Nfhzk; 𝑥If; fUJk; NghJ  

𝑠𝑖𝑛 𝑥 = 
எதிர ்பக்கம்  

செம் பக்கம்
  = 

𝐴𝐵

𝐴𝐶
 

 

𝑐𝑜𝑠 𝑥 = 
அயல் பக்கம்

செம் பக்கம்
  = 

𝐵𝐶

𝐴𝐶
 

 

𝑡𝑎𝑛 𝑥 = 
செம் பக்கம்

அயல் பக்கம்
  = 

𝐴𝐵

𝐵𝐶
 

 

 

 

 

nrk; gf;fk; vdg;gLtJ 
nrq;Nfhzj;jpw;F vjpupy; 
mike;Js;s gf;fkhFk;. vjpu; 
gf;fk;> may; gf;fk; vd;gd 
ehk; fUJk; Nfhzj;jpw;Nfw;g 
njupjy; Ntz;Lk;. 

sin 𝜃 =
5

13
 

cos 𝜃 =……… 

 

tan 𝜃 = ……… 

sin𝛽 = …….. 

cos 𝛽 =…… 

 

tan𝛽 = 
4

3
 

sin 300 =
𝑎

2𝑎
=  
1

2
 

cos 300 =… . . = ⋯ 

 

tan 300 = …… =  …. 

sin 600 =…… = ⋯ 

cos 600 =… . . = ⋯ 

 

tan 600 = …… =   3 
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fzpjk; jpupNfhz fzpjk;; I 

 

juk;  11 

 

thuk; - Kjyhk; thuk; 
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khfhz fy;tpj; jpizf;fsk; rgufKt – thuhe;j ghlrhiy 
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45°  Nfhzj;jpd;  jpupNfhzfzpj tpfpjq;fisg; ngw;Wf;nfhs;s mikf;fg;gl;l cU fPNo jug;gl;Ls;sJ. 
mjw;Nfw;g ,ilntspfis epug;Gf. 

 

 

 

 

 

 * Nfhzq;fs; 300 , 450 , 600 ,w;F ePu; ngw;w ngWkhdq;fis ml;ltizg; gLj;Jf. (ghlg; Gj;jfj;jpd; 19Mk; 
gf;fk; ghu;f;f) 

NkNy ePu; ngw;w ngWkhdq;fisg; gad;gLj;jp fPNo jug;gl;Ls;s cUf;fspy; 𝑥 If; fhz;f. (,ilntsp epug;Gf)   

cjhuzk; 01        cjhuzk; 02 

 

 

 

 

 

 

* Nfhzq;fs; 300 , 450 , 600 ,w;F ePu; ngw;w ngWkhdq;fis gad;gLj;jp gpd;tUk; Nfhitfspd; ngUkhdk; 
fhz;f. (,ilntsp epug;Gf)   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

sin 450 =…… = ⋯ 

cos 450 =
𝑎

 2𝑎
 = ⋯ 

 

tan 450 = …… =  …. 

sin 300 =
𝑥

……
 

        
1

2
= 

𝑥

…… . .
 

       𝑥 =   2 𝑐𝑚 

 

cos 600 =
……

𝑥
 

        
1

2
= 
… . .

𝑥
 

       𝑥 =  ………  𝑐𝑚 

 

1) 𝑆𝑖𝑛 300 𝐶𝑜𝑠 600 

=
1

2
×……. 

=
1

4
 

2) 2𝐶𝑜𝑠 300 𝑆𝑖𝑛 600 

= 2 ×…… .× 
 3

2
 

= 2 ×
…… .

4
 

=
3

2
 

3)  𝑆𝑖𝑛 300 𝐶𝑜𝑠 600 + 𝑆𝑖𝑛 600 𝐶𝑜𝑠 300 

=
1

2
×…… .+ ……× 

 3

2
 

=
1

… . .
+
…… .

4
 

= 1 

4)  1 + 𝑆𝑖𝑛 300 +  𝐶𝑜𝑠 600 = 2  vdf; fhl;Lf. 

,t;thwhd tpdhf;fspy; ,lJ gf;fj;ijr; 
RUf;fp tyJ gf;fj;jpw;F rkdhdJ vdf; 
fhl;Lf. 

,lJ gf;fk;    = 1 +⋯+ 
1

2
 

                    = ….. 

  tyJ gf;fk;    = 2 

∴ 1 + 𝑆𝑖𝑛 300 +  𝐶𝑜𝑠 600 = 2 

jpupNfhz fzpjk; ghlj;jpd; Kjy;  gFjp gw;wpa 
rpW tpsf;fj;ij ,r;nray;ghl;bd; %yk; 

ngw;wpUg;gPu;. ghlg; Gj;jfj;jpd; 12 – 20 gf;fk; tiu 
,t;tplaq;fs; tpsf;fg;gl;Ls;sJ. mtw;iw 

thrpj;J gapw;rp 18.1, 18.2, 18.3 ,w;F 
tpilaspf;f.   

 2 ×  2 = 2  ,  3 ×  3 = 3 vd;gJ 
tpdhf;fSf;F tpilaspf;f  cjTk;. 

 


